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(B) (r) Find Graphically the solution of the Linear programming problem

Mm F =x,+x.
t a
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5x,  +10x,  S 50

x1+x2> l

xz14  
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x  px  2>0
then sholru on the groroh each of the following expressions:

r) Vertex points
4) Hyper plane

e) Convex set g) Feasible region
S) Optimal solution

Also, Solve the problem analytically using simplex method. (zo Marks)
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(D) If the sample space of a rand.om experiment is S = 

{1, 3, 5} , find
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(E) For any two events A and B, prove that

i )  P(A -B)=P(A nB) =P(A)-p@ nB)
i i)r t  P(A UB) =P(A)+P(B)-P(A nB) OoMarks)



of 3 children

E, : is event that the first child is a boy,

Er: isevent that the second child is a girl,

Are B, and n, independent eventst (S Marks)

id find the ProbabilitY
that all are heads if:

1- First coin is head.
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(n) Let A and B be events with P@UB)=+, P'ry;nB)=) ana P6')=*'' 8 + d

hnd. P(A), P(B) and P(B)A') IP Y:'ktl
?at GfxbJuaH;"te "lie{e'ia-naom variable with the

x o 1 2 3 4

P(x) 1/8 2/B s/B 1/8 1/8

A = Drawing a card numbered with an odd number

B = Drawing a card numbered with a prime number

Occurrence of A or B. (iu) Occurrence of A and B together.

occurrenceof onlyA. (ui) Non-occurrence of A. (toMsrks)
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